GL-BL300 Brace Accessories
User’s Manual

Thank you for choosing the GL-BL300 Brace Accessories.

Please install and use the products according to the following directions to ensure normal

function and operation.

Please use stainless screw to fix holder and make sure screwed tightly.

Please do not add/remove any electrical components to/from the products or change/tamper the

original electrical design without our permission.

Please do not add/remove any mechanical components to/from the products or change/tamper the
original mechanical design without our permission.

If you do not follow these instructions to properly install and use the GL-BL300 Brace Accessories, you will
not be eligible for warranty compensation or protection.

We do not take any responsibility for product damage resulting from improper installation or abnormal usage.

Installation Instructions for BL190

Step 1. SEE 1. Step 2. SEE 2.

Gather parts for brace assembly. B 2R - SRR Remove all screws from the two sides SR T B R 2 M A B A 1B 44 -
U shape brace x 1 nivezex1 of driver brace first, and then attach SRIBE IR Z8E7E FE - WAM4X10
Side plate x 2 Rtk x 2 the side plates on it and fix them by YR AL E TE o

M4x10 screws x 4 M4x104E & 1244 x 4 M4x10 screws.

M8x25 screws with nuts and washers x 4 M8x25RABEIZMAES x 4

Step 3. SEE 3. Step 4. SR 4.

Attach the U shape brace on the 1 NSz 28 2 8t QA 7 FBAME Control the angle of the lighting fixture B E BRI 4G EEAE -

side plates and fix them by four M8x2512£TEl%E - by adjusting the M8x25 screws

M8x25 screws. according to the application. Adjustment screw

BEABEZA

LU L X ‘Z?I‘l!l}&_\\i\;c-’l

-

a

(et

i[E] ©2018 GlacialTech Inc. All rights reserved. All brand names and trademarks are the properties of their respective owners.
The specifications are subject to change without notice.

For further information please visit official website : www.GlacialLight.com 17-BLC0S001001



